® Connecting Parts
ElSTAUFF

37° Flared Tube Fitting Set
Type FI-AB = SeriesL/ S

Series Tube 0D PN Dimensions Weight Ordering Codes
() () (i) (5/vs) ca. Ordering Godes
D1 Thread T D2 s1 per 100
L 6 500 3 14 1,74 ARLAL R *FI-AB*-10*L*-B*-W3
o Jo5p M12x15 T = 2gy  FrAB-06L-B-W3
8 500 5 17 2,50 * 37° Flared Tube Fitting Set FI-AB
M14x15 FI-AB-08L-B-W3
il 150 20 67 5.50 * Qutside Tube Diameter D1 (in mm) -10
10 500 6 19 3,38
9 7o5p M16x15 o 75 4y FrAB-10L-B-W3 * Series Lightt Series L
Heavy Series S
12 400 4 18x 15 8 2 483 b pB-12L-B-W3
Sl ) 31 87 1062 * Seal Material NBR (Buna-N®) -B
15 400 11 27 4,66 AR FKM (Viton®) b
o caop M22x15 3 106 104 FAB-15L-B-W3 oo -
18 400 14 32 10,11
71 5800 s 55 1.26 2995 FI-AB-18L-B-W3 * Material Code Steel, zinc/nickel-plated -W3
22 20 ys0x0 17 36 1425 | B-22L-B-W3 Please contact STAUFF for alternative
87 3625 67 1.42 31.35 materials and surface finishings.
28 250 23 4 16,47
110 3625 M36X2 91 1.61 a623 IAB-28L-B-W3
35 250 28 50 25,86
M 45x 2 : FI-AB-35L-B-W3 ]
138 13625 110 1.97 56.90 Spare Parts / Accessories
42 250 35 60 42,85
165 3625 M92X2 1.38 2.36 g4p7 FHAB-42L-B-W3 O 0-Ring
S 6 630 3 17 2,51 Tvoe O-
-AB-06S-B- ype 0-RING Page 207
o o135 M14x15 B o ooy FI-AB-06S-B-W3
8 630 5 19 3,39
31 g3 M16x19 20 P e FIAB-08S-B-W3
10 630 6 22 4,77
B o135 M18x15 o 7 to4g  FrAB-10S-B-W3
12 630 8 24 5,63
a1 g1z MAXTS 31 94 1pqg  F-AB-125-B-W3
14 630 9 27 777
55 o135 M22x15 E 06 1710 FrAB-145-B-W3
16 630 11 30 10,88
83 g1z MAXTP e i paoy  FHAB-165-8W3
20 400 14 36 15,90
79 5800 M 0X?2 55 T tuop  FHAB-205-8W3
25 400 19 46 29,34
98 5800 " 0X2 75 e Gioy  FHAB-255-8W3
30 400 23 50 33,64
118 seo0 M42x2 o1 o7 7400 F-AB-305-B-W3
38 400 30 60 52,40
150 sgo0 " O2X2 1.18 2.36 11528 |-AB-38S-B-W3

Standard seal material is NBR (Buna-N®).

[EEE
%3% www.stauff.com/2/en/#35 Catalogue 2 - Edition 08/2019






